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 ECO-02  

BACHELOR’S DEGREE PROGRAMME 

(B.Com.)  

Term-End Examination 

June, 2022 

 

ELECTIVE COURSE : COMMERCE 

ECO-02 : ACCOUNTANCY – I 

Time : 2 hours Maximum Marks : 50 

  (Weightage : 70%) 

Note :  Attempt any four questions. Question No. 1 is 

compulsory. 

  

1. From the following transactions, make 

accounting equation and prepare the Balance 

Sheet : 14 

  (<) 

(i) Mukesh started business with cash 80,000 

(ii) Purchased goods for cash 28,000 

(iii) Purchased goods on credit 20,000 

(iv) Purchased furniture for cash 6,000 

(v) Paid rent 2,000 

(vi) Received commission 500 

(vii) Withdrew cash for personal use 3,000 

(viii) Sold goods on credit (Cost Price 

< 30,000 ) 
40,000 

(ix) Paid to creditors 15,000 

No. of Printed Pages : 6 
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2. How is Bank Reconciliation Statement prepared 

from the adjusted balance of Cash Book ? Discuss 

with example. 12 

3. Explain both the methods of determining profit 

under Single Entry System of Accounting. 6+6 

4. On 1st January, 2020, ‘X’ of Delhi consigned to 

‘Y’ of Mumbai goods for sale at invoice price. ‘Y’ 

is entitled to commission of 4% on invoice price 

and 20% of any price realized beyond invoice 

price. Goods costing  < 12,000 were consigned to 

‘Y’ at the invoice price of < 14,400. The expenses 

on sending the goods amounted to < 1,000. On  

31st March, 2020 an account sale was received 

from ‘Y’ showing that he had sold goods worth 

< 12,000 in respect of 
4

3 th
 of the quantity of 

goods consigned to him. His actual expenses 

amounted to < 600. ‘Y’ accepted the bill drawn  

by ‘X’ for < 5,000 and remitted the balance due 

from him in cash. Prepare consignment account 

and ‘Y’ account in the books of ‘X’.  12 
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5. Give the journal entries to rectify the following  

errors : 12 

(i) A sum of < 600 written off as depreciation 

on Machine was not posted to Depreciation 

A/c. 

(ii) Purchase Returns Book was overcast by 

< 300. 

(iii) < 880 stolen by ex-employee stood debited to 

Suspense A/c. 

(iv) < 1,000 received from a customer as 

advance was credited to Sales A/c. 

(v) Purchase of a Scooter was debited to 

Conveyance A/c < 6,000. Firm charges 

depreciation @ 10% on vehicles. 

(vi) Payment of < 300 to Ramesh and < 400 to 

Rajesh was made but Ramesh was debited 

with < 400 and Rajesh with < 300. 

6. Explain different types of Reserves. Distinguish 

between ‘Provisions’ and ‘Reserves’. 6+6 
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 B©.gr.Amo.-02  

ñZmVH$ Cnm{Y H$m`©H«$_ 
(~r.H$m°_.) 

gÌm§V narjm 

OyZ,  2022 

 

EopÀN>H$ nmR>çH«$_ : dm{UÁ`  
B©.gr.Amo.-02 : boIm{d{Y – I 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

  (Hw$b H$m : 70%) 

 ZmoQ> : {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & àíZ g§»`m 1 A{Zdm`© h¡ & 

1. {ZåZ{b{IV boZXoZm| go boIm g_rH$aU Am¡a ~¡b|g erQ> 
~ZmBE : 14 

  (<) 

(i) _wHo$e Zo amoH$‹S> bJmH$a ì`mnma àmaå^ {H$`m 80,000 

(ii) ZH$X _mb H«$` {H$`m 28,000 

(iii) CYma _mb H«$` {H$`m 20,000 

(iv) ZH$X \$ZuMa H«$` {H$`m 6,000 

(v) {H$am`m ^wJVmZ {H$`m 2,000 

(vi) H$_reZ àmá {H$`m 500 

(vii) ì`{º$JV à`moJ Ho$ {bE ZH$X {ZH$mbo 3,000 

(viii) CYma _mb ~oMm 
(bmJV _yë` < 30,000) 

 

40,000 

(ix) boZXmam| H$mo ŵJVmZ {H$`m 15,000 
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2. amoH$‹S> ~hr Ho$ g_m`mo{OV eof go ~¢H$ g_mYmZ {ddaU H¡$go 

~Zm`m OmVm h¡ ? CXmhaU g{hV {ddoMZm H$s{OE & 12 

3. boImH$aU H$s BH$har à{d{ï> àUmbr Ho$ A§VJ©V bm^ kmV 

H$aZo H$s XmoZm| {d{Y`m| H$s ì`m»`m H$s{OE & 6+6 

4. 1 OZdar, 2020 H$mo {Xëbr Ho$ ‘X’ Zo _wå~B© Ho$ ‘Y’ H$mo 

~rOH$ _yë` na _mb ~oMZo Ho$ {bE àofU na ^oOm & ‘Y’ 

H$mo ~rOH$ _yë` na _mb ~oMZo Ho$ {bE 4% VWm Bggo 

A{YH$ _yë` na ~oMZo Ho$ {bE 20% H$_reZ àmßV hmoVm  

h¡ & ‘Y’ H$mo < 12,000 H$s bmJV H$m _mb < 14,400 Ho$ 

~rOH$ _yë` na ^oOm & _mb na àofU ì`` < 1,000 hþE &  

31 _mM©, 2020 H$mo ‘Y’ go {dH«$` {ddaU àmá hþAm {OgHo$ 

AZwgma ‘Y’ Zo àofU na ôOo JE _mb _| go 
4

3
 _mb 

< 12,000 _| ~oM {X`m & CgHo$ dmñV{dH$ ì`` < 600 

hþE & ‘X’ Ûmam < 5,000 H$m {bIm {~b ‘Y’ Zo ñdrH$ma 

{H$`m VWm Xò  am{e ZH$X ^oO Xr & ‘X’ H$s nwñVH$m| _| 

àofU ImVm VWm ‘Y’ H$m ImVm ~ZmBE & 12 
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5. {ZåZ{b{IV Aew{Õ`m| Ho$ gwYma H$s OZ©b à{dpîQ>`m±  

Xr{OE : 12 

(i) < 600 H$s YZam{e _erZ na _yë`õmg Ho$ ê$n _| 
An{b{IV H$s {OgH$s _yë`õmg ImVo _| IVm¡Zr Zht 
hþB© h¡ & 

(ii) H«$` dmngr ~hr H$m Omo‹S> < 300 go A{YH$ h¡ & 

(iii) EH$ ^yVnyd© H$_©Mmar Ûmam MwamE JE < 880 CM§V ImVo 
_| S>o{~Q> {H$E JE & 

(iv) EH$ J«mhH$ go < 1,000 A{J«_ ê$n _| àmá hþE {Ogo 
{dH«$` ImVo _| Ho«${S>Q> {H$`m J`m & 

(v) < 6,000 Ho$ ñHy$Q>a H$s IarX H$mo gdmar ì`` ImVo _| 
S>o{~Q> H$a {X`m J`m & \$_© dmhZm| na 10% H$s Xa go 
_yë`õmg bJmVr h¡ & 

(vi) a_oe H$mo < 300 Ed§ amOoe H$mo < 400 ^wJVmZ {H$E 
bo{H$Z ^yb go a_oe H$mo < 400 Ed§ amOoe H$mo < 300 
go S>o{~Q> {H$`m J`m & 

6. g§M` Ho$ {d{^Þ àH$mam| H$s ì`m»`m H$s{OE & ‘Am`moOZ 

(àmdYmZ)’ d ‘g§M`’ _| A§Va ñnîQ> H$s{OE & 6+6 


